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101 HE HE Xk k ok kK kK x x %O 1 p
102 HHWE FEAT *x ok k% * 6 5 P
103 FHm kR % % %k %k % % % 8 9 P
104 KEE 3@ ® k% k  k k K X 7 3 P
105 HIE F= 0 9
106 A Af x % %k %k %x 5 8
107 KJIl 1B % %k % k %k ¥ 6 5 P
108 \IiE &im * x % 6 5 P
109 FHEF AiH ok ok % x 7 3 P
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No. B F KA 21 22 23 24 25 26 27 28 29 JE{T |

& H Tango

101 Hi e 5 1 4 1 2 6 1 1 6 1.0
102 g BEAT 2 4 3 5 7 5 4 5 1 5.0
103 FH K 6 5 1 3 3 2 5 2 3 3.0
104 KEE @ 4 7 5 2 4 3 6 6 5 6.0
107 KJII 1 6 2 7 5 7 7 7 7 7.0
108\ AR 7 3 6 4 6 4 3 3 4 4.0
109 FHEF i 3 2 7 6 1 1 2 4 2 2.0
A AR R

No. & F K 4 T B AR

101 HiE HE 1 1.0 1.0

102 g BEAT 5 5.0 5.0

103 FH K 3 3.0 3.0

104 KEE @ 6 6.0 6.0

107 KJII 7 7.0 7.0

108\ AR 4 4.0 4.0

109 FHEF i 2 2.0 2.0
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HEE BEES & =P K4 N—hFr— 4% | REGER AR FiAE T
101 13002703 C @ HE ¥ B TET RS i o] U F1Ar 1.0
102 = 13003815 C B [&1T a 457T RS TR 555/ 5.0
103 | 13001416 C  FHm @k I Hir RS i o] U 530 3.0
104 = 13003315 C = KPF 2@ KEFE it RS I AGIA 6.0
105 13001845 C = HE:E 22 HEb® Fofk i mprE | MER
106 = 13003974 D [\H AR waE HET FRE AR HERR
107 | 13003298 D KJII 1B BH 4T FRE —HEIR MENA 7.0
108 13003727 C  \I%& A& P T RS v FAfr 4.0
109 = 13003780 C = FHEF FHEF T HE etz BRI F2fr 2.0
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